PEUGEOT

e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




PEUGEOT

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




Rot sy

== Land
1007 (KM)
CIT-20661 CIT-20662
- Control Arm Bushing Control Arm Bushing
Rear Center
3521L3 3521L3
PG-12181 PG-12182
Tie Rod End Tie Rod End
Front Right Front Left
(Only1.616vGTI/HDI) (Only1.616vGTI/HDI)
381761 381762
PG-14240 PG-16179

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

Front
L=335mm Front Left Lower
96288787 480690H010
PG-16178 PG-12172
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Left Outer
Front Right Lower M12x1,25
480680H010 381763
TY-11305 PG-12171
Ball Joint Tie Rod End
Front Lower Front Right Outer
4330850095 ~ M12x1.25
381764
PG-12101 PG-13501
Tie Rod End Axial Joint
Front Front Inner
M14x1,5Rht 95560858
381750
PG-14230 PG-23101501
Stabilizer Link Steering Tie Rod Assembly
Front Front Outer
508732 95493210

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

PEUGEOT

2005-2010

1972-1988

—— il
o—4

parsrot.com

4

info@parsrot.com



Rot sy

= [and PEUGEOT
106 1991-2004
|
CiT-14312 CIT-14309
Stabilizer Link Stabilizer Link
Front Front ’—=—.‘
Only:VTS L=300mm L=322,5mm M10 Thread
96147514 96145457
|
PG-16128N PG-16127N
Suspension Control Arm Suspension Control Arm
Front Left Front Right
Only:VTS Only:VTS
382080 382081
|
PG-16128 PG-16127
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Front Right Lower
Only:VTS Only:VTS
352092 352093
|
CiT-23304 PG-16126N

Steering Tie Rod Assembly

Suspension Control Arm

Front Front Left Lower
M14x1,5Lht-L=214mm 95658978
381747
CIT-14310 CIT-11306
Stabilizer Link Ball Joint

~

(1
I |

Front Right Lower
Ball Joint D=J16mm

Front Front Lower
L=322,5mm M12 Thread D=@16mm
508740 96093233
PG-16125 PG-16126
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower
Ball Joint D=&16mm

95658979 95658978
PG-16125N CIT-13303
Suspension Control Arm Axial Joint
Front Right Lower Front
95658979 M14x1,5Rht/Lht-L=380mm
95069129

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

D

parsrot.com

info@parsrot.com



—
sy L and

PEUGEOT

1991-2004

CiT-12302 CIT-20127
Tie Rod End Control Arm Bushing
Front Left Center
M14x1,5Rht 95603308
381741
CiT-20128 CIT-2052
Control Arm Bushing Control Arm Bushing
Front Outer Rear
96148480 352351
CIT-2050
Control Arm Bushing
Center
352350
2005-2014
PG-12171 PG-13173
Tie Rod End Axial Joint
Front Right Outer Front
M12x1,25 M12X1,25-L=224mm
381764 455000H010
PG-12172 PG-16178
Tie Rod End Suspension Control Arm and Ball Joint
Front Left Outer Assembly
M12x1,25 Front Right Lower
381763  480680H010
TY-11305 PG-16179
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

Assembly

Front Left Lower

4330859095
480690H010
PG-14240 CIT-20662
Stabilizer Link Control Arm Bushing
Front Center
L=335mm 352113
96288787

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land PEUGEOT
107 2005-2014
|
CIT-20661
— Control Arm Bushing
Rear
3521L3
1983-1998
|
PG-12101 PG-13202
Tie Rod End Axial Joint
Front Front Inner ——ille
M14x1,5Rht M14x1,5-L=314mm
381750 96136394
| |
PG-16206 PG-23101202
Suspension Control Arm and Ball Joint Steering Tie Rod Assembly
Assembly
d Front ‘
Front Right Lower
95493610
91516337
| |
PG-16227 PG-16226
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Front Right Lower
Only:GTI Only:GTI
91519409 91519408
| |
PG-16207 PG-14230
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
b Front ’ . -
Front Left
508732
91516336
| |
CiT-13203 CIT-20129
Axial Joint Control Arm Bushing
———— Front Center
M14x1,5-L=312mm 352323
381295
|
CiT-20133 CIT-20125
— Control Arm Bushing Control Arm Bushing
Rear Rear
\ 91515653 352320

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and PEUGEOT
205 1983-1998
|
CIT-20126
N Control Arm Bushing
: Center
352349
1998-2008
CiT-20136 PG-20135
Control Arm Bushing Control Arm Bushing
Rear Center
352392 352376
CiT-12302 PG-14240
Tie Rod End Stabilizer Link
Front Left Front
M14x1,5Rht L=335mm
381741 96288787
PG-20476 PG-20290
Control Arm Bushing Control Arm Bushing
Center Rear
352380 3523AS
PG-13233 CIT-23301233
Axial Joint Steering Tie Rod Assembly
e —— ' ] Front Front Right
M14X1,5-L=300mm 9471007565
3812C5
|
CIT-23302233 PG-16235

Steering Tie Rod Assembly

Suspension Control Arm and Ball Joint
Assembly

Front Left
Front Right Lower
9471000565
3521P8
PG-16237 PG-16237A
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Right Lower
Only:GTI Ch.No:RP4441->
35210000000 3521H9

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land
206
PG-16238 PG-16238A
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Front Left
Only:GTI Ch.No:RP4441->
3520H7 3520L7
]
PG-16245 PG-16246
— Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left
Ch.No:->16VPR9505- Ch.No:->16VPR9505-
3521J0 3520L8
PG-16236 PG-18500
Suspension Control Arm and Ball Joint Suspension Control Arm Repair Kit
Assembly
Front
Front Left Lower Ch.-->94440
3520S8
PG-16236 PG-16235
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

Front Right Lower

PEUGEOT

1998-2008

2009-2012

352088 3521P8
CIT-23302233 CIT-23301233
Steering Tie Rod Assembly Steering Tie Rod Assembly
Front Left Front Right
9471000565 9471007565
PG-13233 PG-14240
Axial Joint Stabilizer Link
Front Front ‘ <
M14X1,5-L=300mm L=335mm
3812C5 96288787
CiT-12302 PG-20135
Tie Rod End Control Arm Bushing —
Front Left Center
M14x1,5Rht 352376
381741

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

206

207

PEUGEOT
+ 2009-2012
|
CIT-20136
Control Arm Bushing
Rear
352392
2006-2012
CIT-11555 PG-13273
Ball Joint Axial Joint
Front Lower Front
D=@18mm M16x1,5-L=213mm
364062 381200000000
PG-14279 PG-14278
Stabilizer Link Stabilizer Link
Front Left Front Right
L=330mm L=330mm
508769 508768
PG-12272 PG-12271
Tie Rod End Tie Rod End
Front Left Front Right
M16X1,5 M16X1,5
381767 381768
PG-16276 PG-16277
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
3521N8

Front Left Lower

3520R7

PG-16276N

Suspension Control Arm

Front Right Lower

PG-16277N

Suspension Control Arm

Front Left Lower

3521N8 3520R7
PG-20634 PG-20635
Control Arm Bushing Control Arm Bushing
Rear Rear
3523CE 3523CC

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

10

info@parsrot.com



Rot sy

== Land PEUGEOT
208 GTI 2012 after
|
PG-11510 PG-16518
Suspension Control Arm and Ball Joint N

P Ball Joint

Front Lower

Assembly
Front Right Lower

364078
9670771480
PG-16519 PG-12271
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Right
Front Left Lower M16X1,5
9670772080 381768
PG-12272 PG-14278
Tie Rod End Stabilizer Link
Front Left Front Right
M16X1,5 L=330mm
381767 508768
PG-14279 PG-13513
Stabilizer Link Axial Joint
Front Left Front
L=330mm M14x1.5-L=225mm
508769 1608025380
208
|
PG-12674 CIT-13343
Tie Rod End Axial Joint
Front Right Front
M14X15 4610817680
1610817880
|
PG-12675 CIT-11365
Tie Rod End Ball Joint
Front Left Front Lower
M14X1,5 fitaluminiumcontrolarm
1610817780 9803434080
PG-14656SA PG-16698
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Front
L=335mm Front Right Lower
9809045780 9816865480

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land PEUGEOT
208 2017 after
|
PG-16699
o Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

9816865580

2009-2016

PG-16660 PG-11664
Suspension Control Arm Ball Joint
Front Left Front
3520V2 364073
PG-13663 PG-16659
Axial Joint Suspension Control Arm
Front Front Right Lower
M14x1,5-L=272mm 3521R3
3812F2
PG-14656 PG-12661
Stabilizer Link Tie Rod End
Front Front Right
L=335mm M14x1,5
508764 381788
PG-12662 CIT-20136
Tie Rod End Control Arm Bushing
Front Left Rear
M14x1,5 352392
381789
CIT-20386
Control Arm Bushing
Center
352391
3008 2016 after
PG-14656 CIT-13343
Stabilizer Link Axial Joint
‘_=_’ Front Front
L=335mm 4610817680

508764

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land PEUGEOT
3008 2016 after
|
PG-12675 CIT-11365
Pt Tie Rod End Ball Joint
! Front Left Front Lower !
M14X1,5 fitaluminiumcontrolarm
1610817780 9803434080
PG-12674 PG-201043
Tie Rod End Control Arm Bushing
Front Right Front Outer
M14X1.5 9816865580
1610817880
PG-16699 PG-16698
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
9816865580 9816865480
|
PG-20936
Control Arm Bushing
Front Inner
9816865580
1977-1984
|
PG-13305 PG-23101305
Axial Joint Steering Tie Rod Assembly
) Front Front - ; ‘
M14x1,5-L=320mm 381235
381254
|
PG-12101
Tie Rod End
Front
M14x1,5Rht
381750
1984-1990
|
PG-11105 PG-13306
Ball Joint Axial Joint
Front Front ‘_‘a‘
05494204 M14x1,5-L=175mm
381296

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land PEUGEOT
305 1984-1990
PG-23401306 PG-23402306
P Steering Tie Rod Assembly Steering Tie Rod Assembly
N ' Front Right Front Left
381241 381247
PG-12401 PG-12402
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5Rht M14x1,5Rht
381749 381726
1993-2001
PG-13607 PG-23101607
Axial Joint Steering Tie Rod Assembly
Front Front
14x1,5Rht-L=353mm 05493208
381292
PG-11605 PG-11606
Ball Joint Ball Joint
Front Front
PowerSteering D=&16mm ManuelSteering D=@16mm
364037 364044
PG-11616 PG-16625
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front )
PowerSteering D=@18mm Front Right Lower
PowerSteering Ball Joint D=&16mm
364048
3521A3
PG-16626 PG-16627
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower
PowerSteering Ball Joint D=316mm

Front Right Lower
ManuelSteering Ball Joint D=&16mm

Front Left Lower
ManuelSteering Ball Joint D=16mm

382083

3520F3 3521A1
PG-16628 PG-16629
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
PowerSteering Ball Joint D=&18mm

3520G0

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

306

PEUGEOT

1993-2001

PG-16630

Suspension Control Arm and Ball Joint

PG-16625N

Suspension Control Arm

~
P
s,

Suspension Control Arm

Front Left Lower
Manuel&power

Assembly
Front Right Lower
Front Left Lower
PowerSteering Ball Joint D=18mm 3521A3
3520F3
PG-14611 CIT-14210
Stabilizer Link Stabilizer Link
Front Front
PlasticType L=300mm Metal L=300mm
96152213 508746
CIT-16428N CIT-16427N

Suspension Control Arm

Front Right Lower
Manuel&power

307

95658882 95685513
PG-12101 CIT-2053
Tie Rod End Control Arm Bushing
Front Front Left Lower Inner
M14x1,5Rht 96110483
381750
CIT-2054

Control Arm Bushing

Front Outer

pAOLDEZVIES

96097927
CIT-20386 CIT-12302
Control Arm Bushing Tie Rod End
Center Front Left
352391 M14x1,5Rht
381741
PG-16658 PG-11655
Suspension Control Arm Ball Joint
Front Left Front Lower
352082 364068

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

15

info@parsrot.com



Rot sy

= Land PEUGEOT
307 2000-2008
. |

PG-14656 PG-13654K

Stabilizer Link Steering Tie Rod Kit S~

Front Front
L=335mm 381200000 ]
508764
.|
PG-13653K PG-13654
Steering Tie Rod Kit Axial Joint
Front Front _ﬁ
3812 Ch.No:10311-> M14x1,5-L=340mm
381200000

.|

PG-13653 CIT-20136

Axial Joint Control Arm Bushing
Front Rear
Ch.No:->10310 M14x1,5-L=322mm 352392
3812

CIT-20136 PG-14656

Control Arm Bushing Stabilizer Link

Rear Front
352392 L=335mm
508764

PG-16659 PG-13663

Suspension Control Arm Axial Joint

Front Right Lower Front
3521R3 M14x1,5-L=272mm

3812F2

PG-11664 PG-16660
Ball Joint Suspension Control Arm
Front Front Left
364073 3520V2

PG-12662 PG-12661

Tie Rod End Tie Rod End
Front Left Front Right w
M14x1,5 M14x1,5 -

381789 381788

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 16 info@parsrot.com



Rot sy

mw Land PEUGEOT
308 2007-2013
|

CIT-20386

— Control Arm Bushing

Center

352391
2nd Gen 2013 after

PG-12674 PG-12675
Tie Rod End Tie Rod End

Front Right Front Left
M14X1,5 M14X1,5

1610817880 1610817780

CIT-11365 PG-16688N

Ball Joint Suspension Control Arm

Front Lower Front Right
fitaluminiumcontrolarm FORGEDALUMINIUM

9803434080 9800596580

PG-16689 PG-16688

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Front Right
Aluminium Aluminium

9800596680 9800596580

PG-16689N PG-14656SA

Suspension Control Arm Stabilizer Link

Front Left Front
FORGEDALUMINIUM L=335mm

9800596680 9809045780

PG-13673 PG-11671

Axial Joint Ball Joint

Front Front Lower
M14x1.5 9672192480
1611242380

PG-16678 PG-16679

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower Front Right Lower

9678311380 9678311280

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 17 info@parsrot.com



Rot sy

= Land PEUGEOT
308 2nd Gen 2013 after
|
PG-16679S PG-16678N
— Suspension Control Arm and Ball Joint Suspension Control Arm

Assembly
Front Right Lower
Front Left Lower
9678311280
9678311380
PG-20936 PG-20937

Control Arm Bushing

Control Arm Bushing

Front Inner Front Outer
9816865580 9678311380
1985-1993
PG-13705 PG-23101705
Axial Joint Steering Tie Rod Assembly —
Front Front
M14x1,5-L=320mm 381254
381252
PG-16361 PG-16362 —
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left W
352141 352060
PG-16363 PG-16364
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower A
Only:GTI Only:GTI
352064 352145
PG-12101 PG-14230
Tie Rod End Stabilizer Link
Front Front ’—.'
M14x1,5Rht 508732
381750
PG-20134 CIT-20133 —
Control Arm Bushing Control Arm Bushing =
Center Rear
352325 91515653

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

309

PEUGEOT
1985-1993

CIT-20129

P Control Arm Bushing
' Center
352323

2007-2012

Front Left Lower

MI-14470 MI-20368
Stabilizer Link Control Arm Bushing
Front Center
L=265mm  4013A282
MN101368
MI-20369 MI-13483
Control Arm Bushing Axial Joint
Rear Front
4013A282 M14x1.5-L=322mm
4422A057
MI-14486 MI-14487
Stabilizer Link Stabilizer Link
Rear Right Rear Left
L=80mm L=80mm
MN 184194 517848
MI-16479  MI-16478
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

4013A427 4013A428
MI-11474 MI-12481
Ball Joint Tie Rod End
Front Lower Front

4013a009 ~ M14x1.5

4422A052
PG-13407 PG-23401407
Axial Joint Steering Tie Rod Assembly
Front Front Right
M14x1,5-L=184mm 381273
381277

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

PG-23402407

Steering Tie Rod Assembly

PG-16425

Suspension Control Arm

Suspension Control Arm

Front Left Lower

Front Left Front Right Lower
381272 D=@13,70mm
352149
PG-16426 PG-16427

Suspension Control Arm

Front Right Lower

PEUGEOT
1985-1997

D=@13,70mm D=@13,70mm
352068 352177
PG-16428 PG-14414
Suspension Control Arm Stabilizer Link
Front Left Lower Front
D=@13,70mm L=161mm
3520A7 508727
PG-12401 PG-12402
Tie Rod End Tie Rod End
Ed
-A Front Right Front Left k\_
o = M14x1,5Rht M14x1,5Rht - L]
381749 381726
|
PG-11105 PG-20137
Ball Joint Control Arm Bushing
Front Center
95494204 352340
PG-20138
Control Arm Bushing
Rear
352354
1995-2004
|
PG-20139 CIT-14310
Control Arm Bushing Stabilizer Link
Front Inner Front ’%‘
352378 L=322,5mm M12 Thread

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

508740

parsrot.com

info@parsrot.com



—
sy L and

406

PG-14410

Stabilizer Link

PG-11106

Ball Joint

Front Front Lower
L=320mm 364071
508760
PG-20140 PG-20293
Control Arm Bushing Stabilizer Link
Front Right Lower Inner Front
352361 352360
PG-14411 PG-14412

Stabilizer Link

Stabilizer Link

Rear Rear
Metal L=245,5 Plastic L=160mm
96287831 9615230080
PG-13443 PG-13453
Axial Joint Axial Joint
—_—l Front Front
M16x1,5-L=311mm M16x1,5-L=301mm
3812A9 3812C4
PG-12441 PG-12442
- Tie Rod End Tie Rod End
‘ Front Right Front Left
m’w\& ~ M16x1,5Rht  M16x1,5Rht
381739 381740
T PG-16445 PG-16446
Suspension Control Arm Suspension Control Arm
A Front Right Lower Front Left
352180 3520C0
407
PG-12471 PG-12472
Tie Rod End Tie Rod End
) b Front Right Front Left Outer
M14x1,5D=@12mm M14x1,5D=@12mm
381766 381765

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

PEUGEOT

1995-2004

2004-2011

(|

parsrot.com

21

info@parsrot.com



Rot sy

== Land PEUGEOT
2004-2011

PG-16473 PG-16474

Suspension Control Arm Suspension Control Arm
Front Right Lower Front Left
Ch:opr.12407-> Ch:opr.12407->
352178 3520X7
CIT-20502 CIT-20501

Control Arm Bushing

Front Left Inner

Control Arm Bushing
Front Right Lower Outer

Front Lower

3523AQ 3523AR
PG-13463 PG-12461
Axial Joint Tie Rod End
Front Front Right Outer
M14x1,5-L=103mm M14x1,5RhtD=10mm
3817000 381757
PG-12462 PG-19478
Tie Rod End Lateral Arm
Front Left Outer Rear Upper Rear
M14x1,5RhtD=10mm 5175CF
381758
PG-11460 PG-11460K
Ball Joint Suspension Ball Joint Kit

Front Lower

Front Left Lower
(Withoutbracket)VariableSuspension

3520N7

364072 364072
PG-19477 CIT-19639
Lateral Arm Lateral Arm
Rear Front Rear Left Upper
517847 5175CN
PG-16489ZB CIT-19636
Suspension Control Arm Lateral Arm

Rear Right Lower
Aluminium

5175CE

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

407

PEUGEOT
2004-2011
|
CIT-19638 CIT-19637
Lateral Arm Lateral Arm —
Rear Right Upper Rear Left
5175CP 5175CC
PG-14467 PG-14466
Stabilizer Link Stabilizer Link
Front Left Front Right
L=200mm L=200mm
508752 508753
PG-16488ZB PG-16489

Suspension Control Arm

Front Right Lower
(Withbracket)VariableSuspension

3521J7

Suspension Control Arm

Front Left Lower
(Withbracket)VariableSuspension

3520N7

PG-14464

Stabilizer Link

PG-16469

Suspension Control Arm

Rear Front Left Lower
L=141mm 3520Q1
9651565180
PG-16488 PG-16468

Suspension Control Arm

Front Right Lower
(Withbracket)VariableSuspension

Suspension Control Arm

Front Right Lower

3521L2
3521J7
PG-16660 PG-11664
Suspension Control Arm Ball Joint
Front Left Front
3520V2 364073
PG-13663 PG-16659
Axial Joint Suspension Control Arm
Front Front Right Lower
M14x1,5-L=272mm 3521R3
3812F2

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

23

info@parsrot.com



—
sy L and

PEUGEOT

—————— _______ _____________________________—————
5008 2009-2016

CIT-16539

P Suspension Control Arm

Front Left Lower

CIT-16538

Suspension Control Arm

Front Right Lower

9805607480 9805607380
|
PG-14656 PG-12661
Stabilizer Link Tie Rod End -
Front Front Right tﬁ
L=335mm M14x1,5 :
508764 381788
|
PG-12662 CIT-20136
Tie Rod End Control Arm Bushing —,
Front Left Rear
M14x1,5 352392
381789
CIT-201070 CIT-20386
Control Arm Bushing Control Arm Bushing
Front Lower Outer Center
98056074 352391
1968-1993
|
PG-12101 PG-23101501
Tie Rod End Steering Tie Rod Assembly
Front Front Outer i
M14x1,5Rht 05493210 N ’
381750
|
PG-13501 PG-13502
Axial Joint Axial Joint
e Front Inner Front i
95560858 M14x1,5Rht-L=247mm
381217
| |
PG-13503 PG-13504
Axial Joint Axial Joint
e Front Front =

M14x1,5Rht-L=240mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

M14x1,5Rht-L=227mm

parsrot.com

24

info@parsrot.com



—
sy L and

504

PEUGEOT

1968-1993

PG-23101502

Steering Tie Rod Assembly

PG-23101503

Steering Tie Rod Assembly

1968-1993

i Front Inner Front
- ' 381217 95493208
|
PG-23101504 PG-11505
Steering Tie Rod Assembly Ball Joint
i Front Front
- ' 95493208 364025
505
|
PG-11505 PG-23101504
— Ball Joint Steering Tie Rod Assembly
Front Front
364025 95493208

PG-23101503

Steering Tie Rod Assembly

PG-23101502

Steering Tie Rod Assembly

Front Front Inner
95493208 381217
PG-13504 PG-13503
Axial Joint Axial Joint
Front Front

M14x1,5Rht-L=227mm

M14x1,5Rht-L=240mm

PG-13502 PG-13501
Axial Joint Axial Joint
Front Front Inner
M14x1,5Rht-L=247mm 95560858
381217
PG-23101501 PG-12101
Steering Tie Rod Assembly Tie Rod End
Front Outer Front
05493210 M14x1,5Rht
381750

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land
508
PG-14464 CIT-19637
Stabilizer Link Lateral Arm
Rear Rear Left
L=141mm  5475cc
9651565180
]
CIT-19638 CIT-19636
Lateral Arm Lateral Arm
Rear Right Upper Rear Right Lower
5175CP Aluminium
5175CE
CIT-19639 PG-13853
Lateral Arm Axial Joint
Rear Left Upper Front
5175CN M14X1,5-L=209mm
3812G3
PG-12851 PG-12852
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
3817A2 3817A1
PG-11854 PG-16858
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right
364083
3521Y0
PG-16859 PG-16858N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right
Front Left
3521Y1
3520Y0
PG-16859N PG-14856
Suspension Control Arm Stabilizer Link
Front Left Front
3520Y0 L=345mm
508776

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

PEUGEOT

2010-2018

parsrot.com

info@parsrot.com



—
sy L and

508

PEUGEOT
2010-2018

PG-20910

P Control Arm Bushing

PG-20909

Control Arm Bushing

Front Inner Front Outer
3521Y0 3521Y0
605 1989-1999
PG-14640 PG-14641
Stabilizer Link Stabilizer Link
Rear Right Rear Left
L=86mm L=86mm
517831 517830
s PG-11106 CIT-12302
Ball Joint Tie Rod End
Front Lower Front Left
364071 M14x1,5Rht
381741
CIT-13504 CIT-23302504
Axial Joint Steering Tie Rod Assembly
-_— Front Front Left
M14x1,5Rht-L=295mm 381281
96032460
— CIT-23301504  CIT-14311
Steering Tie Rod Assembly Stabilizer Link
Front Right Front
381280 L=346mm
96080894
2000-2010
PG-11106 PG-14410
Ball Joint Stabilizer Link
Front Lower Front ‘_‘
364071 L=320mm
508760
PG-14641 PG-13763
Stabilizer Link Axial Joint
Rear Left Front -——
L=86mm M16x1,5Rht-L=295mm
517830 3812C7

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

27

info@parsrot.com



—
sy L and

607

PEUGEOT

2000-2010

Steering Tie Rod Assembly

PG-12761 PG-12762
Tie Rod End Tie Rod End @
Front Right Front Left :
M16x1,5Rht M16x1,5Rht %
381744 381743
PG-14640
Stabilizer Link
Rear Right
L=86mm
517831
1994-2002
CIT-2059 CIT-2060
Control Arm Bushing Control Arm Bushing N
Left Right !
1305551080 1305552080
FT-13743 FT-16745
Axial Joint Suspension Control Arm and Ball Joint
Front Inner Assembly
M14x1,5-L=309mm Front Right Lower
9566950880 1317390080
FT-23741743 FT-14750

Stabilizer Link

Front Front — T @
9566050880 ~ L=122mm
508735
|
FT-16746 CIT-2058
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Front Lower Inner
Front Left
3521T2
1317389080
CiT-2058 CIT-20507
Control Arm Bushing Control Arm Bushing
Front Lower Inner Right
3521T2 3521H1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land PEUGEOT
807 2002-2014
|
CIT-20508 FT-13793
—_— Control Arm Bushing Axial Joint
! Left  Front e — e
B 3521H1 M14x1,5-L=308mm
77362280
] |
FT-16796 FT-12791
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
~ Front Outer
FrontLeft  M14x1,5Rht-D=@15,45mm
93501487 77362279
] |
FT-16795 PG-14810
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
¢ Front >——6
| Front Right Lower L=262,5mm
93501488 508751
BIPPER 2008-2017
FT-13494 FT-12492
Axial Joint Tie Rod End
Front Front Left
M14X1,5-L=274mm M14x1,5
55172401 77364568
FT-12491 FT-14496
Tie Rod End Stabilizer Link
Front Right Front
M14x1,5 L=290mm
77364569 51815479
FT-11485 FT-16486
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right Lower
51783057
51895366
FT-16487 FT-16486N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right
Front Left Lower
51895366

51895367

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

s Land PEUGEOT
BIPPER 2008-2017
|
AF-20624 AF-20623
Control Arm Bushing Control Arm Bushing
Rear Center
55700751 55703232

(1.1Q-1.5Q-1.7Q,H-2.0Q )

2006 after

CIT-20673

Control Arm Bushing

CIT-20674

Control Arm Bushing

Front Inner Front Right Lower
3521P2 3521P2
|
L FT-14819 FT-14810

Stabilizer Link

Stabilizer Link

- Rear Front ® =1 mhl=
L=100mm L=112mm =
T 5170F5 1357572080
]
FT-16818 FT-16817
Suspension Control Arm Suspension Control Arm
-‘ Front Left Front Right Lower
© Only:1.1Q-1.5Q-1.7Q Only:1.1Q-1.5Q-1.7Q
3520S0 3521P1
FT-16816 FT-13813
Suspension Control Arm Axial Joint
Front Left Front _’
Only:1.7H-2.0Q M16x1,5-L=260mm
3520S1 1359226080
FT-16815 FT-11814 —
Suspension Control Arm Ball Joint

Front Right Lower

Front Lower

Only:1.7H-2.0Q 50705629
3521P2
FT-12812 FT-12811
Tie Rod End Tie Rod End -
Front Left Front Right v
M16x1,5 M16x1,5 X
77364253 77364009

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 30 info@parsrot.com



Rot sy

= Land PEUGEOT
BOXER (1.4Q-1.8Q) 1994-2002
FT-13765 FT-23761764
Axial Joint Steering Tie Rod Assembly
e —— Front Front
PowerSteering M16x1,5Rht-L=318mm ManualSteering
9945836 4018A3
]
FT-23761765 FT-12761
Steering Tie Rod Assembly Tie Rod End
m" Front Front
PowerSteer?ng M ? 6x1,5Rht
4018A3 4018A3
) FT-11763  FT-11762
- Ball Joint Ball Joint
Front Lower Front Lower
Only:1,8Q Only:1.4Q
542410095 364032
FT-16775 FT-16776

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

Only:1,4Q Only:1,4Q
352165 352095
FT-16785 FT-16786

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

®
I
B

Only:1,8Q Only:1,8Q
352166 352096
FT-14780 CIT-20352
Stabilizer Link Control Arm Bushing
Front Inner
L=134mm 41308601080
508737
CIT-2064 CIT-2063
Control Arm Bushing Control Arm Bushing
Front Right Lower Outer Front Inner
352394 1300507080

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 31 info@parsrot.com



Rot sy

= Land PEUGEOT
BOXER (1.4Q-1.8Q) 2002-2005
|
CIT-20425 PG-12771
— Control Arm Bushing Tie Rod End 4
Front Right Lower Front
1331948080  "16x1.5RNt
77362278
FT-11772 FT-11773 -,
Ball Joint Ball Joint
Front Lower Front Lower
Only:1.4Q Only:1,8Q
364055 364054
FT-16777 FT-16778

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

Only:1,4Q Only:1,4Q
3521J3 3520N3
FT-16787 FT-13764
Suspension Control Arm Axial Joint
Front Right Lower Front

tdtde

Only:1,8Q ManualSteering M16x1,5Rht-L=318mm
352144 9945385
FT-16788

Suspension Control Arm

Front Left Lower

Only:1,8Q
3520N4
EXPERT 2007-2016
FT-16838XT FT-16839XT
h Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
& Front Right Front Left
1497407080 1497408080
FT-16838A FT-16839
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
; Front Right Front Left
(Forging) - 50711394
50711395

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 32 info@parsrot.com



Rot sy

= Land PEUGEOT
EXPERT 2007-2016
|
FT-16839A FT-14836
= - Suspension Control Arm and Ball Joint Stabilizer Link
= Assembly
Front i &
Front Left L=263mm —
- Forgin
- (Forama) g g7s6
50711394
] |
FT-12831 FT-16838
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front
M14x1 5 Front Right
9403817738 50711395
] |
FT-13833 CIT-20322
Axial Joint Control Arm Bushing
// Front Front Right Inner
M14x1,5-L=304.7mm 50711395
3812F0
|
CIT-20508 CIT-20507
—— Control Arm Bushing Control Arm Bushing
! Left  Right
3521H1 3521H1
EXPERT 224 1995-2006
|
CIT-2058 CIT-16229
P Control Arm Bushing Suspension Control Arm and Ball Joint
/ Assembly
Front Lower Inner
352172 Front Left
?EE\I&&%?IE?%E%EDONOEPAR
3520P4
|
FT-13743 CIT-16228
Axial Joint Suspension Control Arm and Ball Joint
Assembly
o r—e——— - Front Inner _
M14x1,5-L=309mm  Front Right
9566950880 %w\ﬁg%ﬁ E%E%EDONOEPAR
3521P4
|
FT-16745 FT-23741743
Suspension Control Arm and Ball Joint Steering Tie Rod Assembly
Assembly
Front
Front Right Lower
9566950880
1317390080

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and PEUGEOT
EXPERT 224 1995-2006
|
FT-12741 FT-16746
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Outer
M14x1,5Rht-D=g14,4mm  Front Left A
9404059580 1317389080
|
FT-14750 FT-13463
Stabilizer Link Axial Joint
Front Front Inner e
L=122mm M14x1,5Rht-L=309.3mm
508735 9947713
|
FT-12791 CIT-2060
Tie Rod End Control Arm Bushing
Front Outer Right
M14x1,5Rht-D=15,45mm 1305552080
77362279
|
CIT-2059
Control Arm Bushing
Left
1305551080
EXPERT 2016 after
|
CiT-12662 CIT-12661
Tie Rod End Tie Rod End
Front Left Front Right
9820340080 9820340180
CiT-11664
Ball Joint
Front Lower
9818657580
J5 1981-1985
| |
> FT-11752 FT-23751754
= Ball Joint Steering Tie Rod Assembly
Front Lower Front ‘mﬂ
D=216mm 9790002680
4388159

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land PEUGEOT
1985-1994
|
FT-12751 FT-11753 >
i Tie Rod End  Ball Joint b=
Front Front
M16x1,5Rht D=216,8mm .
9750079800 7567284 ;
1968-1980
| |
PG-17255 PG-12251
G
Steering Center Link Tie Rod End i
M Front Front Right LA
L=373mm M20x1,5Rht.
381330 387431
| |
PG-12252 PG-11253 -
TieRodEnd  Ball Joint £41
Front Left Front Lower
M20x1,5Lht. D=@24mm
387430 362215 s
~
PG-11254
Ball Joint
Front
D=@21,6mm
360828
1980-1987
|
PG-11254 PG-11253 -,
Ball Joint  Ball Joint 141
Front Front Lower
D=@21,6mm D=@24mm
360828 362215 %o
~
PG-12252 PG-12251
— G
= Tie Rod End Tie Rod End
= Front Left Front Right Y
M20x1,5Lht. M20x1,5Rht.
387430 387431

PG-17255

|

Steering Center Link
~ Front
L=373mm

381330

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

PARTNER

PEUGEOT

1996 after

PG-18555

Suspension Control Arm Repair Kit

CIT-20840

Control Arm Bushing

Front Front Lower
Ch.7973--> @18mm 3521F3
PG-14611 CIT-16427N

Stabilizer Link

Suspension Control Arm

Front Front Right Lower
PlasticType L=300mm Manuel&power
96152213 95685513
CIT-16428N CIT-14210
Suspension Control Arm Stabilizer Link
Front Left Lower Front
Manuel&power Metal L=300mm
95658882 508746
PG-12101 PG-23101214
Tie Rod End Steering Tie Rod Assembly
Front Front
M14x1,5Rht 05493208
381750
CiT-13214 CIT-16427
Axial Joint Suspension Control Arm and Ball Joint
Assembly
Front _
M14x1,5Rht-L=3355mm  FrontRight Lower
Ch.->7972 Ball Joint PowerD=@16mm
96048214
95668511
PG-11614 CIT-11205
Ball Joint Ball Joint
Front Front Lower

Ch.No:7973->PowBr=Sée1c.=,é'imnﬂ1

Bg&l?é%%QYZPowerSteering

96087507 96025445
PG-16636 PG-16635
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower
PowersteerlngCh.No:7973->D=88|‘\ g%nmt

3520H5

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Front Right Lower
. . - .
Bg\%%rgrt]?%nngCh.No.?QB Ball Joint

352169

parsrot.com

info@parsrot.com



Rot sy

= Land PEUGEOT
PARTNER 1996 after
|
CiT-16428 CIT-16429
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
Ch.->7972 Ball Joint PowerD=@16mm 3521R4
95658882
] |
CiT-16430 CIT-2054
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Front Outer
Front Left
96097927
3520Q4
]
CIT-2053 CIT-20493

e Control Arm Bushing

Front Left Lower Inner

Control Arm Bushing

Front Outer

96110483 96117499
Il, Tepee
CIT-20386 PG-13433K
) Control Arm Bushing Steering Tie Rod Kit
\ Center Front
Y 352391  3812F4
|
PG-13433 PG-12662
Axial Joint Tie Rod End
_===_. Front Front Left
M14x1,5-L=254.7mm M14x1,5
3812F4 381789
|
PG-12661 PG-11655
- Tie Rod End Ball Joint
m' ¥ Front Right Front Lower
: M14x1.5 364068
381788
|
PG-16658 PG-14430A
Suspension Control Arm Stabilizer Link
Front Left Front
352082 MetalDesign L=334mm
508757

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

PARTNER

Il, Tepee

PEUGEOT
2008-2018

PG-14430

Stabilizer Link

PG-16657

Suspension Control Arm

Front Left Lower

9806738380

Front Right Lower
9806738280

CIT-13653

Axial Joint
Front

3812F7

Front Front Right Lower
Alm.Design L=334mm 3521P3
508757
CIT-20136
Control Arm Bushing
Rear
352392
1st Gen 2010-2015
|
PG-16669 PG-16668
Suspension Control Arm Suspension Control Arm
Front Left Lower Front Right Lower
3520Y3 3521v4
CIT-16659 CIT-16658
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 38 info@parsrot.com






